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QUESTION 1

Which of the following comparison statement will return true?
A. X=10; Y=11; y--; x==y

B. X=10; Y=11; Y++; x==y\\'

C. X=11,; Y=10; y--; x==y;

D. X=11; Y=10; y-= 1; x==y

Correct Answer: D

QUESTION 2

Consider the following code.

Which of the following will occur if the user\\'s response is 257

A. The response will not be tested due to an error in the line containing the conditional operator.

B. The statement "You are not old enough to rent a car from our car rental agency " will be displayed.
C. The statement "You are old enough to rent a car from our car rental agency " win be displayed.

D. The statement You are not old enough” will be displayed in an alert box.

Correct Answer: D

QUESTION 3

Juan is testing his JavaScript application, which includes the following code:
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Assuming Juan enters August for his birth month and his name for first name, what is the value of birthMonth after
executing this code?

A. August

B. Juan was born in August

C. Juan was born in August

D. What month were you born? What is your first name?

Correct Answer: A

QUESTION 4

Consider the following code:

What will be displayed for the computer inventory after the Update Inventory button is clicked twice?
A. 18
B. 19
C.20
D. 22

Correct Answer: C

QUESTION 5

Which of the following is a true statement regarding the relationship between Promises and callback functions?
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A. A Promise cannot be used in conjunction with a callback.

B. A Promise is used to monitor the value of a variable A callback retrieves the previous value of a variable.

C. A Promise is a returned object to which the developer can attach callbacks instead of passing callbacks to a function.
D. A Promise is an object a developer can use to pass callbacks to functions.

Correct Answer: C

QUESTION 6

Laurie has been instructed to add code to a Web page to display the date and time when the document was last
updated. Which code should she use?

A. document.write("Last Updated Updated \\\\' + history.length);
B. document.write("Last Updated \\\\' navigator.appVersion);

C. document.write("Last Updated \\\\' + new Date());

D. document.write ("Last Updated " + document . lastModified) ;

Correct Answer: B

QUESTION 7

What is the expected result when executing the following scripts in a web browser?

A. A pop-up alert box will display Fair followed by a pop-up alert box displaying Bad

B. A pop-up alert box will display Poor

C. There is an error in the code, no pop-up alert box will appear

D. Two pop-up alert boxes will appear one will display Fair and one will display Poor

Correct Answer: A

QUESTION 8

Jackson was testing his code when the Web browser became locked and he had to close it to stop the script. What
might he have accidentally done when coding his Web site?

A. Coded an infinite loop
B. Coded a frame that breaks the same origin policy
C. Coded an input element that is vulnerable to XSS

D. Coded deprecated HTML
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Correct Answer: D

QUESTION 9

What basis code is needed to define the JavaScript function avgGrades?
A. Function avgGrades () {}

B. avgGrades function ()

C. avgGrades (){ }

D. var = function avgGrades () {}

Correct Answer: C

QUESTION 10

Derrick is building a Web form to collect user data for a retail Web site. He will be collecting the users name e-mail
address phone number, physical address and credit card information. What should he do to protect his users, when
collecting this data?

A. Notify users how their data is being stored and used on the Web site.

B. Use signed scripts to keep the user data secure on the server.

C. Advise users to install anti-virus software to keep their data secure.

D. Advise users to disable JavaScript in their browsers, to keep information secure.

Correct Answer: C
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